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2. (Translate and explain the following sentences,) “That the energies of mankind
should be kept in employment by the struggle for riches, as they were formerly by
the struggle of war, until the better minds succeed in educating the others into
better things, is undoubtedly more desirable than that they should rust and
stagnate. While minds are coarse they require coarse stimuli, and let them have
them. In the meantime, those who do not accept the present very early stage of
human improvement as its ultimate type, may be excused for being comparatively
indifferent to the kind of economic progress which excites the congratulations of
ordinary politicians; the mere increase of production and accumulation.” (by John
Stuart Mill)

Part II. (20 43) Answer only ome of the following questions (in

Chinese) -

1. Explain and discuss why “globalization eliminates jobs, but it also creates jobs.”
How does globalization reduce the cost of production? According to the U.S.
Bureau of Labor Statistics, average hourly wages in manufacturing are $18.56 in
the U.S. but only $5.24 in Taiwan (Source: International Comparisons of
Manufacturing Hourly Compensation Costs, 1998). How could this differential in
labor cost affect the production plan for the U.S. firms?

2. (State whether the following statement is True, False, or Uncertain. Explain why
using any appropriate diagrams, equations, empirical results, or stylized facts. Be
sure to state all pertinent assumptions you are making. ) Capitalists get what they
spend, while workers spend what they get.
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(a) AR (externalities)

(b) S5 IEBE (trade barriers)

(¢) FTFHIEMY (rent-seeking activities)
(d) HEMBEE T (automatic stabilizers)
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1. If the economy is in a recession, the Fed might
reduce interest rates fo stimulate the economy.
cut tax rates to stimulate the economy.
increase government spending.

increase interest rates to restrain the economy.

o TR

2. Saving equals aggregate income minus
a. nettaxes and consumption.
b. transfer payments and net taxes,
c. disposable income.
d. transfer payments and consumption.

3. In the following figure, if the real interest rate rises from 4 to 6 percent,
a. consumption would rise above $250 billion.
b. the Cy curve would shift to C;
c. consumption would fall below $250 billion.
d. the Cycurve would shift to Cs
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4. Why is the real interest rate determined in the world l:t:ﬂnnm}r‘? -
a. Because no nation has enough saving to finance all its investment. s
b. Because every nation has some excess saving that it must lend to foreigners. &
¢. Because international trade means that each nation must borrow from its trading partners. i
d. Because capital moves from one country to another, seeking the highest possible return. hi
it
5. When the inflation rate is zero, the x
a. real interest rate is greater than the nominal interest rate. »
b. real interest rate is less thar the nominal interest rate. 8
¢. nominal interest rate is zerc. &
d. real interest rate equals the nominal interest rate, 4%
fi~ PPEEERE  B/NE4 S 205
6. An example of an investment in the national income accounts is the purchase of
a. anew van by a potter, who packs it with his wares and travels to art shows.
b. 100 shares of Canadian stock on the New York Stock Exchange.
c. a 100-year-old house that was just put on the protected historic sites list in the year in question,
d. aU.S5. government bond.
7. A decline in the standard of living occurs when
a. nominal income falls.
b. the purchasing power of money falls,
¢. the CPlrises,
d. average prices fall too little to offset a drop in nominal income.
8. In the following figure, the economy initially is at point a and then an increase in the money supply causes
the economy eventually to move to point b, remaining there forever. The economy has had a
a. positive and increasing rate of inflation.
b. one-time increase in the price level.
¢. positive rate of inflation.
d. positive and declining rate of inflation,
3
3
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| 9. Movement upward along the short-run Phillips curve results from an
a. anticipated increase in the rate of growth of the money supply. .
1 b. unanticipated increase in the rate of growth of the money supply.
| ¢ anticipated decrease in the rate of growth of the money supply.
d. anticipated increase in the rate of growth of the money supply. N—
t ,
10. Which of the following is NOT considered to be part of M3? A &
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Coase theorem

Rawlsian social welfare function
Median voter theorem

social rate of discount
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